## PUBLIC PROCUREMENT REGULATORY AUTHORITY (PPRA)

### CONTRACT AWARD PROFORMA - I

(As per Rule 47 of PP Rules, 2004)

# To Be Filled And Uploaded on PPRA Website In Respect of All Public Contracts of Works, Services and Goods

- > NAME OF THE ORGANIZATION/DEPTT: PAKISTAN NATIONAL SHIPPING CORPORATION (PNSC)
- FEDERAL / PROVINCIAL GOVT: FEDERAL GOVERNEMENT
- TITLE OF CONTRACT: <u>INTERNATIONAL TENDER FOR THE PROCUREMENT OF CRANE WIRES & MOORING ROPES FOR PNSC MANAGED VESSEL M.V CHITRAL AT SINGAPORE.</u>
- TENDER NUMBER: STORES/17386/08/PPRA/22-23
- ▶ BRIEF DESCRIPTION OF CONTRACT: INTERNATIONAL TENDER FOR THE PROCUREMENT OF CRANE WIRES & MOORING ROPES FOR PNSC MANAGED VESSEL M.V CHITRAL AT SINGAPORE
- TENDER VALUE: <u>SGD: 29,022/-</u> Equivalent to <u>PKR: 4,440,075/-</u>,
- ENGINEER'S ESTIMATE: N/A (for civil Works only)
- ESTIMATED COMPLETION PERIOD: <u>IMMIEDIATE DELIVERY AFTER ISSUANCE OF PURCHASE ORDER</u>.
- ➤ WHETHER THE PROCUREMENT WAS INCLUDED IN ANNUAL PROCUREMENT PLAN? YES
- > ADVERTISEMENT:
  - (i) PPRA Website: 07/09/2022 (TS489582E)
  - (ii) NEWS PAPERS: DAILY BUSINESS RECORDER, ROZNAMA 92 NEWS & LLOYD'S LIST (DT: 09-09-2022)
- > TENDER OPENED ON (DATE & TIME): 13/10/2022 (11:30 A.M),
- NATURE OF PURCHASE: INTERNATIONAL
- EXTENSION IN DUE DATE (If any): N/A
- NUMBER OF TENDER DOCUMENTS SOLD: FREE OF COST-AVAILABLE AT www.pnsc.com.pk
- WHETHER QUALIFICATION CRITERIA WAS INCLUDED IN BIDDING/TENDER DOCUMENTS: NO.



1	WHETHER BID EVALUATION CRITERIA WAS INCLUDED IN BIDDING / TENDER DOCUMENTS: YES.
	YES.

WHICH METHOD OF PI	ROCUREMENT WAS USED: -	(Tick one)
--------------------	------------------------	------------

a)	SINGLE STAGE - ONE ENVELOPE PROCEDURE	<b>✓</b>	
b)	SINGLE STAGE - TWO ENVELOPE PROCEDURE.		
c)	TWO STAGE BIDDING PROCEDURE.		
d)	TWO STAGE – TWO ENVELOPE BIDDING PROCEDURE	_	

- PLEASE SPECIFY IF ANY OTHER METHOD OF PROCUREMENT WAS ADOPTED WITH BRIEF REASONS (i.e EMERGENCY, DIRECT CONTRACTING, NEGOTIATED TENDERING ETC.).
- WHO IS THE APPROVING AUTHORITY: CHAIRMAN PNSC
- ➤ WHETHER APPROVAL OF COMPETENT AUTHORITY WAS OBTAINED FOR USING A METHOD OTHER THAN OPEN COMPETITIVE BIDDING: N/A
- NUMBER OF BIDS RECEIVED: FOUR (04)
- WHETHER THE SUCCESSFUL BIDDER WAS LOWEST BIDDER: YES
- WHETHER INTEGRITY PACT WAS SIGNED: N/A



# PUBLIC PROCUREMENT REGULATORY AUTHORITY (PPRA)

(As per Rule 47 of PP Rules, 2004)

## CONTRACT AWARD PROFORMA - II

# To Be Filled And Uploaded on PPRA Website In Respect of All Public Contracts of Works, Services & Goods

- NUMBER OF BIDDERS PRESENT AT THE TIME OF OPENING OF BIDS: INTERNATIONAL TENDER,
- NAME AND ADDRESS OF THE SUCCESSFUL BIDDER: M/S. ANCHORE MARINE SUPPLIES PTE LTD, ADDRESS: 126 GUL CIRCLE, SINGAPORE, 629594.
- RANKING OF SUCCESSFUL BIDDER IN EVALUATION REPORT (i.e. 1<sup>st</sup>, 2<sup>nd</sup>, 3<sup>rd</sup> LOWEST BIDDER):
  FIRST LOWEST & MOST ADVANTAGEOUS BIDDER
- ▶ NEED ANALYSIS (Why the procurement was necessary?) YES, REQUISITION RECEIVED FROM MASTER CHITRAL DULY APPROVED BY SUPERINTENDENT FLEET PNSC. AS PER CRANE RUNNING HOURS RECORD, WIRES RENEWAL IS DUE. WE HAVE CHANGE CRANES WIRE ONCE RECEIVED NEW.
- IN CASE EXTENSION WAS MADE IN RESPONSE TIME, WHAT WERE THE REASONS: N/A
- WHETHER NAMES OF THE BIDDERS AND THEIR PRICES WERE READ OUT AT THE TIME OF OPENING OF BIDS: YES - INTERNATIONAL TENDER
- DATE OF CONTRACT SIGNING: 14-NOVEMBER-2022 (PURCHASE ORDER ISSUE DATE) (Purchase Order is attach)
- CONTRACT AWARD PRICE: SGD: 29,022/- Equivalent to PKR: 4,440,075/-,
- ➤ WHETHER COPY OF EVALUATION REPORT GIVEN TO ALL BIDDERS: YES (Final Bid Evaluation Report is attach)
- ANY COMPLAINTS RECEIVED: NO
- ANY DEVIATION FROM SPECIFICATIONS GIVEN IN THE TENDER NOTICE/DOCUMENTS: NO
- DEVIATION FROM QUALIFICATION CRITERIA: NO
- SPECIAL CONDITIONS, IF Any: NO [F.No.2/1/2008PPRA-RA.III]



Print copy for: MUHAMMAD TALHA ALI

Message: 202147

Subject: P.O.: INTERNATIONAL TENDER FOR THE PROCUREMENT OF " CRANE WIRES & MOORING ROPES " FOR PNSC VESSEL M.V CHITRAL AT SINGAPORE

Date: November 14th 2022, 10:16:14 am

Cc: yaseen.abbasi@pnsc.com.pk, vfleet@pnsc.com.pk, nusrat.jamil@pnsc.com.pk, storesfp.pnsc@gmail.com, chitral@singtelmailbiz.com

M/s. ANCHOR MARINE SUPPLIES (PLS ACKNOWLEDGE SAFE RECEIPT OF THIS ORDER)

MASTER (CHITRAL) This Refer to your Req # NIL dated 22-08-2022. CC:

### PURCHASE. ORDER # STORES/ 17386 / 08 / PPRA / 22-23

Reference to your quotation No. ASQ2227334 dated: 26-09-2022. We hereby confirm our order to supply following items to vessel CHITRAL at SINGAPORE. ETA & AGENT DETAILS WILL BE REVERTED WHEN CONFIRMED.

S#	ITEM DESCRIPTION	UNIT	QTY	RATE SGD	TOTAL SGD
	CRANE HOIST WIRE,  GALVANIZED STEEL WIRE ROPE, CONST: 4 X 48 FC, NON ROTATING, RIGHT HAND  REGULAR Z LAY, DIA: 33.5 MM, LENGTH:253 MTRS, MBL 808 KN (82.4 TONS), ONE  END DEAD EYE THIMBLE PIN HOLE DIA 70MM OTHER END SEIZING, WITH CLASS NK  APPROVED CERTIFICATE, ORIGIN KOREA	COIL	2	6,920.00	13,840.00
2	CRANE LUFFING WIRE, GALVANISED STEEL WIRE ROPE, 6 X FI(29) IWRC, REGULAR Z LAY, DIA: 26 MM, LENGTH: 203.4 MTRS, MBL 51.6 TONS, ONE END DEAD END EYE THIMBLE PIN HOLE DIA 45 MM OTHER END SEIZING, WITH CLASS NK APPROVED CERTIFICATE, ORIGIN KOREA	COIL	2	3,445.00	6,890.00
3	MOORING ROPES POLY PROPYLENE + POLYIESTER ROPE, 8 STRAND, DIA 64 MM, LENGTH 220 MTRS, MBL 83 TONS, BOTH ENDS EYES SPLICING 2MTR, UV PROTECTION WITH MARINE COATING, WRAPPED WITH HIGH TENACITY POLYESTER PROTECTED SLEEVE CANVAS, WITH DUPLICATE DNVGL BATCH CERT & ORIGINAL MAKER'S MEG4 CERT	COIL	. 4	1,953.00	7,812.00
4	CABLE STOCKING	PCS	4	55.00	220.00
5	JOINT B TYPE (RB) ROPE DIA 30~35 MM	PCS		65.00	
	JOINT B TYPE (RB) ROPE DIA 30 -35 MINI	DUNT	: SG	D	29,02

#### DLIVERY RECEIPT TO BE SIGNED BY MASTER.

For direct payment into your account original invoices + 3 copies along with original delivery receipts with your complete SGD A/C No. mentioned on your Company's Cover Letter Head to be dispatched through courier on following address.

MASTER CHITRAL (RIC): (Receiving Officer should inspect items thoroughly before singing delivery receipts and return items which are not as per required specification).

Best Regards,



#### FINAL EVALUATION REPORT

#### (AS PER RULE 35 OF PP RULES, 2004)

1. NAME OF PROCURING AGENCY: PAKISTAN NATIONAL SHIPPING CORPORATION (PNSC)

2. METHOD OF PROCUREMENT : OPEN COMPETITIVE BIDDING AS PER RULE 36 (A) OF PPR 2004

3. TITLE OF PROCUREMENT : INTERNATIONAL TENDER FOR PROCUREMENT OF CRANE WIRES FOR

PNSC VESSEL M.V CHITRAL AT SINGAPORE

4. TENDER INQUIRY NO. : STORES/17386/08/PPRA/22-23

5. PPRA REF. NO. (TSE) : TS489582E

DATE & TIME OF BID CLOSING : 13/10/2022 - (1100 Hrs)
 DATE & TIME OF BID OPENING : 13/10/2022 - (1130 Hrs)

8. NO OF BIDS RECEIVED : FOUR (04)

9. CRITERIA FOR BID EVALUTION : MOST ADVANTAGEOUS BID
 10. DETAILS OF BID(S) EVALUTION : DETAILS ARE AS UNDER

	MARKS	EVALUTIO	N COST	RULES/ REGULATION/SBD*/POLICY/		
NAME OF BIDDERS	FINANCIAL	Foreign Currency	Equivalent to Pak Rs.	BASIS OF REJECTION/ACCEPTANCE AS PER RULE 35 PF PP RULES 2004		
M/s ANCHOR MARINE SUPPLIES	-	SGD: 29,022.00	4,440,075/-	ACCEPTED AS PER PPRA RULE 38 BEING MOST ADVANTAGEOUS BIDDER		
M/s. RMS MARINE & OFFSHORE	-	SGD: 29,397.22	4,497,480/-	2 <sup>ND</sup> LOWEST		
M/s. FIRST GLOBAL	-	SGD: 37,256.42	5,699,859/-	3 <sup>RD</sup> LOWEST		
M/s. RIC MARINE & OFFSHORE	-	SGD: 26,245.65	2,389,590/-	NON-RESPONSIVE BID (Quoted Wires Not As Per Requirement)		

MOST ADVANTAGEOUS BIDDER:

M/s. ANCHOR MARINE SUPPLIES PTE LTD.

11. ANY OTHER ADDITIONAL / SUPPORTING INFORMATION. (COMPARATIVE STATEMENT ATTACHED)

SIGNATURE: .....

GENÉRAL MANAGER (FINANCE)
(As Chairman Tender Committee)

OFFICIAL STAMP: .....

\*STANDARD BIDDING DOCUMENTS (SBD).

#### PAKISTAN NATIONAL SHIPPING CORPORATION

STORES (MR&S DEPARTMENT)

#### (COMPARATIVE STATEMENT)

#### INTERNATIONAL TENDER FOR CRANE WIRES & MOORING ROPES FOR PNSC VESSEL M.V CHITRAL AT SINGAPORE

Tender No: STORES / 17386 / 08 / PPRA/ 22-23

s	#	IMPA CODE	ITEM DESCRIPTION	UNIT	QTY	M/s. RMS MARINE & Y OFFSHORE SERVICE		M/s. ANCHOR MARINE SUPPLIES PTE LTD		M/s. RIC MARINE & OFFSHORE SUPPLIES		M/s. FIRST GLOBAL EQUIPMENT LIMITED		
		CODE				RATE SGD	TOTAL SGD	RATE SGD	TOTAL SGD	RATE SGD	TOTAL SGD	RATE USD	RATE SGD	TOTAL SGD
Г	$\top$											10	SD = 1.426475 S	GD
:	1		CRANE HOIST WIRE,  GALVANIZED STEEL WIRE ROPE , UNI ROPE U4 X SES (48) , REGULAR Z LAY, DIA: <b>33.5 MM</b> , LENGTH: <b>253 MTRS</b> , MBL <b>808 KN</b> (82.4 TONS), ONE END DEAD EYE THIMBLE PIN HOLE DIA 70MM OTHER END SEIZING, WITH MAKER & CLASS NK APPROVED CERTIFICATE	COIL	2	7,501.54	15,003.08	6,920.00	13,840.00	8,216.00	16,432.00	7,343.02	10,474.63	20,949.27
	2		CRANE LUFFING WIRE, GALVANISED STEEL WIRE ROPE, 6 X FI(29) IWRC, REGULAR Z LAY, DIA: 26 MM, LENGTH: 203.4 MTRS, MBL 457 KN (46.6 TONS), ONE END DEAD END EYE THIMBLE PIN HOLE DIA 45 MM OTHER END SEIZING, WITH MAKER & CLASS NK APPROVED CERTIFICATE	COIL	2	3,396.25	6,792.50	3,445.00	6,890.00	2,221.70	4,443.40	3,324.48	4,742.29	9,484.58
3	3 2	211707	MOORING ROPES  POLY PROPYLENE + POLYIESTER ROPE, 8 STRAND  DIA 64 MM, LENGTH 220 MTRS, MBL 82 TONS  WITH COMPLINACE TEST CERTIFICATE	COIL	4	2,562.08	10,248.32	1,953.00	7,812.00	2,055.30	8,221.20	1,792.89	2,557.51	10,230.05
[	4 2	214506	<u>CABLE STOCKING</u> JOINT B TYPE, (RB)ROPE DIA 26~30 MM	PCS	4	77.46	309.84	55.00	220.00	91.00	364.00	52.49	74.88	299.50
	5 2	214506	CABLE STOCKING JOINT B TYPE (RB) ROPE DIA 30~35 MM	PCS	4	77.46	309.84	65.00	260.00	91.00	364.00	75.82	108.16	432.62
			TOTAL AMOUNT: SGD				32,663.58		29,022.00		29,824.60		me law and	41,396.02
DISCOUNT : SGD			10%	3,266.36	-		12% 3,578.95		10	)%	4,139.60			
	GRAND TOTAL AMOUNT: SGD				29,397.22	2 29,022.00		26,245.65		55		37,256.42		
	TOTAL AMOUNT (PAK RS.)				4,4	197,480.99	<b>4,440,075.78</b> 4,0		015,321.69	5,699		599,859.28		
	R.O.E. DATED: 17-10-2022 1 SGD = PAK RS.						152.99		152.99		152.99			152.99

1	REMARKS	2nd Lowest	1st Lawast	NON-RESPONSIVE BID	2nd Laurant
	NEWARKS	Ziiu Lowest	1st Lowest	(WRONG SPECIFICATION)	3rd Lowest

SYED MASOOD AHMED

Suptd. Engineer (MR&S) Member Tender Committee ZEESHAN ALI

Suptd. Engineer (MR&S) Member Tender Committee

SHOAIB RAZA

Manager (Finance) Member Tender Committee

SYED ZEESHAN TAQVI General Manager (Finance) Chairaman Tender Committee